
��������� �����	
���� �
 �	�� ��� � �����

���������� ������� ���� �� !��"���� #$ �% & �  ��'(� �' )�!��*  ��� +
%��� �,�-��� ���� �� $�!�.

G
� !���� '�� )�!�� �� !��"���� + /�0.��1

�� 1 $ .����2 + 3� !��"���' ��!����(� � $ $�������� �* ���!��!�� +
4 56 789:; < => = ?@A@BC DE FGEHGFCBGIJEK LGM@NCJG I HGO GNCPLC Q R STUV WWX Y Z X[
\]?Z^_`]_a bc Wc X d bef g X hI XWij
klmlnl opqr sts u 8v6 w8x yz{9|}~ �}6

�

�
�
	

�
M

6
F

� � �� �

�
�

A

B

G = 49
J� a

F = 28
J� a

M = 56
J�L a

r = 2
L X

klmlnl opqr s� s �:~ {w:;7�8v � 5898

�

�
�
?

M

-F

?
P

�

�

�

A

B

G = 3
J� a

F = 5
J� a

M = 2
J�L a

P = 2
J� a

r = 1
L X

klmlnl opqr sq s �:97:6 :9:; � 8� w8

�
�
	6M

6
F

-
P

� � �

�

�
A

B

G = 15
J� a

F = 12
J� a

M = 46
J�L a

P = 48
J� a

r = 1
L X

klmlnl opqr s� s � :~ �5� � 86 �v

��


	6
M

?
F

�P

� � �

�

�
A

B

G = 20
J� a

F = 12
J� a

M = 152
J�L a

P = 12
J� a

r = 2
L X

klmlnl opqr s� s �;v �59��;8 �~ �98

�
� 
	6

M

>
F

α

� � �

�
�
�

A

B

G = 25
J� a

F = 10
J� a

M = 180
J�L a

r = 2
L a

cosα = 0,8
X

klmlnl opqr s� s �:�598 � �8x �6 598

�

�
�


-

M

6
F

� � � �

�

�
�

A

B

G = 46
J� a

F = 25
J� a

M = 42
J�L a

r = 1
L X



klmlnl opqr s� s � 78�:; �~ ��789|6

�

�
6
M

-F

6P
��

�

�A

B

G = 4
J� a

F = 15
J� a

M = 4
J�L a

P = 2
J� a

r = 2
L X

klmlnl opqr s� s 4 :w8~5v � 8;5|

�

�
	6M

6
F

-
P

� � �

�

�
A

B

G = 21
J� a

F = 28
J� a

M = 226
J�L a

P = 84
J� a

r = 2
L X

klmlnl opqr s� s �: 8�:;8 �~598

� �


	6M

?
F

-P

� � �

�

�
A

B

G = 30
J� a

F = 9
J� a

M = 156
J�L a

P = 6
J� a

r = 2
L X

klmlnl opqr str s < :~¡89:; � �:95|

�
�
	6

M

}
F

α

� � �

�
�
�

A

B

G = 30
J� a

F = 20
J� a

M = 200
J�L a

r = 2
L a

cosα = 0,8
X

klmlnl opqr stts > �¡8�; �~ ��7�¢

�

�
�
	

�
M

6
F

� � � �

�
�
�

A

B

G = 30
J� a

F = 15
J� a

M = 58
J�L a

r = 1
L X

klmlnl opqr st� s £ 8;~ :; �~ ��7�¢

�

� 	6
M

�F

6P
�

�

�
A

B

G = 13
J� a

F = 5
J� a

M = 2
J�L a

P = 2
J� a

r = 1
L X

klmlnl opqr stq s £ :¤:; < 8�75�

�
�
	6M

6
F

-
P

� � �

�

�
A

B

G = 3
J� a

F = 6
J� a

M = 48
J�L a

P = 12
J� a

r = 2
L X

klmlnl opqr st� s ¥v w:; < 8�75�

� �


	6M

?
F

-P

� �

�

�
A

B

G = 8
J� a

F = 6
J� a

M = 4
J�L a

P = 8
J� a

r = 1
L X



klmlnl opqr st� s ¦�� 59 � ;��95¢

�
�
	6

M

}
F

α

� � �

�

�
A

B

G = 23
J� a

F = 25
J� a

M = 110
J�L a

r = 2
L a

cosα = 0,8
X

klmlnl opqr st� s ¦:6 :�59 > 5�5x8

�

�
�


-

M

6
F

� � � �

�
�
�

A

B

G = 74
J� a

F = 35
J� a

M = 190
J�L a

r = 1
L X

klmlnl opqr st�s ¦{¡�:; £ 8;�~

�

�
�
?

M

�F

?
P

�§

�

�

A

B

G = 7
J� a

F = 12
J� a

M = 3
J�L a

P = 1
J� a

r = 1
L X

klmlnl opqr st� s ¨�|:6 :;8 46 57x598

�
� 
	6

M

6
F

�
P

� � �

�

�
A

B

G = 19
J� a

F = 10
J� a

M = 62
J�L a

P = 40
J� a

r = 1
L X

klmlnl opqr st� s © 86 5ª59 £ 8;�~

� �


	6M

?
F

-P

� � �

�

�
A

B

G = 9
J� a

F = 4
J� a

M = 38
J�L a

P = 4
J� a

r = 2
L X

klmlnl opqr s�r s « :¢ �~ ��7�¢

�
�
	6

M

}
F

α

� � �

�

�
A

B

G = 28
J� a

F = 25
J� a

M = 160
J�L a

r = 2
L a

cosα = 0,8
X

klmlnl opqr s�ts ¬5¡�89� � ;89

�

�
�
	

�
M

6
F

� � � �
�
�
�

A

B

G = 62
J� a

F = 35
J� a

M = 18
J�L a

r = 1
L X

klmlnl opqr s�� s © 8ª��:; < 8�75�

�

� 	6
M

�F

6P
�§

�

�A

B

G = 6
J� a

F = 5
J� a

M = 2
J�L a

P = 2
J� a

r = 2
L X


